UP Police Constable Oct 26, 2018 Question Paper

HMEATH AT/ General Knowledge

1. The amount of water recommended by the
United Nations for drinking,washing, cooking
and maintaining proper hygiene is a minimum

1] G liter per person per day.

THYTh MY g 0, 4, @A g 3 3fem
TWBAT Tl ST T o forw srvifaa =g=aw
ot =t wren, wiy st wiafe ... e 8

(a) 30 (b) 20

(c) 75 (d) 10

Ans : (a) SEE 2010 § FFF ¢ HREA A @S TA
F IYFHA F TH G AWFR T F TEE GG
forem fomd 163 T2 390 & © 122 9 3595 9 § HaeH
i vd 41 30 T wEEE # w9 forn faEem 2010
§ graifusn oftes 7 weafd 8 seE oftd & 35t g
#1, 7 99 T T A &1 Aifes ATHE &1 g
W@ % fau syifed =Eas ot & g s =fE so
e 21

2. The micro-organisms that convert the dead
plants and animals to humus are known as:

ga Sfal R weEd @ |e-faEr o uiatda

T AT GoH SAai @ e A | A S g2

(a) Bacteria /ST

(b) Fungus /&TH

(¢c) Protozoa /ST

(d) Decomposers /3999 Fq A
Ans : (d) ATHEF T HAIHSA FH A (Decomposers) F
HTIA gAgear Sav], Wesie, 9% (fungs) IS
o €1 F Yg-uidi, Sig-wgel wd ga SEt qEEt i
g1 T vd faefed # W FEfe a1 dAFEtE
A § oftafdd &2 % &1 3 fefa e onim
AT H 99 W9 € A1 SNeASAl g1 WA # o
o £
% Groundwater gets recharged by infiltration. At

places, the ground water is stored between

layers of hard rock below the water table. This
water is known as:

g, e & g femst & <ar 81 o vt
W, Y9d WSS W o Aol ®eN wg @
qTAl o ST BrAT £ 9 ST Hl Fed 8

(a) Aquifer /TFATH

(b) Rainwater /aTRET & 91

(c) Pool /drem=

Ans : (a) S9T A TFEEL (Aquifer) It F oUFA F
§aE & A9 T F UF UHOHER (WA) 8 6 W g
UFGA FA € UA WAE 30 AAgd § e A
FIFA 2T H A 21 Ui 99 gee e 3w
FA1 & A FB WE W Y, 9hee W% A $on
el # o A\ W 2, W 9d #OCuEiw
STy Fel S g

(d) Underwater /3Tsieiig

4. Which among the following is a disease caused
by virus?
FiraToy 3 FoT Fey # W @ o e 22
(a) Cholera /&1
(b) Typhoid /31 FaX
(c) Dysentery /ufae
(d) Tuberculosis /&7 T
Ans : (*) 39 TTaq 2l
Frent wid, i (arEim) )
fomo] g7 @ ATt A - e, S, €, TEm
g | g9 are i - ufgw, fr i, wefn,
g
FAF/FN W EH A I - @G, @, Goel, Ta9
|
5.

The Rural Housing Fund was set up in
to enable primary lending institutions to access
funds for extending housing finance to targeted
groups in rural areas at competitive rates.

o swaTE fafir = ad wrfue feaman
T ot ifen wrerfier SHUT St @t wieaeeff
0wt ardter & W wfdr wuE o, swerw
fas we= & & faU o= Sueer e § "y
FATAT ST TH
(a) 2008-09 (b) 2014-15
(c) 2016-17 (d) 2003-04
Ans : (a) IE0T 3@ [ (Rural Housing Fund) e}
F9 2008-09 ¥ =T e T @1 @fF WAl =
gegEl & wfaerdf @0 W ogndior &5 9 afa |gE &,
IyEE a9 YoM F9 & v 99 Iuee U9 0 g
AT A G | AT 3ary F=o fafy (RHLF) 3 w4190

LA Al Al sl

T 1996 7 &t w4 41

6. Frank Whittle is related to which of the below
inventions?
e fageer g o o & f&m &7 enfassr
feram e &2

(a) Electromagnetism /fad JaH=
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(b)

Benzene, liquid gases and optical glass
/A, T T SR s T
The induction of electric current
/T ware- s

(d) Jetengine /e gfem
Ans : (d) 52 5 F1 Afasr %5 feea 9 fFar an
W2 99 The & fogia W 8 3@ 81 92 99 A9-
UE # ag # 99 & w9 § IW@M w1 2| S
faart § S g5 1 59 fF S 21
7. Who is the author of the book "Kashmir: The

Vajpayee Years:?

“wydr : & areuEt I A A &

wEE F §7

(a) Sanjay Jain /H93 3

(b) RN P Singh /3R u 4 fiz

(¢) A S Dulat /T TH geid

(d) Varun Yadav /987 31€9
Ans : (¢) ¥HE TH® FYAR : & Feed sEE s
fFam & @@s FWEE (48 gad (A.S. Dulat) 2l
ad 1999 F 2000 7F FEUW FR favemer fHm
(RA.W.) & 7@ & 75 &
8. When did the President of India give assent to

the Central GST Law?

FHE GST H1F &I, WRA & Tgufa 3 &a

TEWTT W wf &7

(a) 18" April 2017 /18 3%, 2017

(b) 22™ April 2017 /22 30, 2017

(¢) 5™ April 2017 /5 319, 2017

(d) 12" April 2017/12 21, 2017
Ans : (d) 757 95 w4 Fa1 = (Head) F s
2| g fugdt. @ w9 aen fava & oggen
dv wiw ) Shumdt. ama F o1 gar 2017 | any
T @) SUEA. FEA FO12 3 2017 H UG F
apafa yora gt 4 2 Feafa v #i 4

9. The Information Technology (Amendment)
Act, 2008 came intq force on October 27....cuuue.

goAT wrEnfient (") sfefram, 2008, 27

(c)

(a) 2009 (b) 2016

(¢) 2001 (d) 2005
Ans : (a) T ST (HemE) sffEm 2008, 27
A, 2009 F @] 3| YA S sfufEm @
a8 2000 ¥ @] A T 9 emer g 15 e,
2006 F gEAr S (@) w2006 #
Arad § 99 R g 23 REw, 2008 1 EE2 F
21 et 4 38 9 R A 39% e swEtt, 2009 i
gal S (gviee) sfafagm, 2008 FFoawef 3
AT TS WA # IR TH U & TeA § Sifetaa

10. "Handmade paper" is selected as a product

district of Uttar Pradesh under
the "One district One Product" scheme.

“uw faen, UH SAR AW F odEd
" gratatitia wrer ' o Sared & fou ST e
- I et @t g=T = )

(a) Amethi /33T

(b) Jalaun /STEt

(¢) Deoria /2aft@r

(d) Kushinagar /F¥=T

Ans : (b) 24 SFEL, 2018 T I WoV FEH F AW
Wmmmm@m@mmnedistrict
one product) S F YHRA fFar AN W ASW &
7ed 3.9. & ‘waq foet & ‘gwtafda w9 & 3arEA
& fow g &) wEfs sl e @ e ud e

T & FEE F I & o A T g

11.  15year old Shardul Vihan, who is Asian Games
2018 Silver medalist in double trap shooting
event, hails from district of Uttar
Pradesh.

T We 2018 & TAS U yeN W Iwa
vea fastar 15 adfa ynger fage 37 v &
........... et 7 €

(a) Bulandshahr /gea3met

(b) Aligarh /378

(¢c) Meerut /TS

(d) Saharanpur /FEAYL

Ans : (¢) TET faem gfém wef 7 dafem &1 391 15
af = 3w F N =ad 29 gew | 2018 F ufernE
Gell ¥ 90 92 Sfid 911 vEd fFRE 99 9 9 I W

yew & H3 fa & @A A €

F1 fear man

12.  United Province of Agra and Awadh, now
known as Uttar Pradesh, shifted its capital
from .......... to Lucknow in the year 1921.

Fmm o sy & dyw wia, A ora I
WSIT & AT | AT AT §, 7 a6 1921 F o+t
AT ¥ T@As 0 At femar
armi
(a)
(b)

Agra /3T

Dehradun /2878

(¢) Allahabad /3AREE

(d) Kanpur /&L
Ans : (c) T UF a9 & Fgw Wi fE 1@ I w2
F A9 F S oA 2, # qemr & oad 19215, #
TARERE (FATAIS) ¥ a@as Eid & 12 4 adnE
Y § oHEAS 30 YoV & WYTHHAS 9 J9ias TeeE
1 TARER AAE TEEH & AW A4 S g1 IW
T2V F ITA AAEY FoeEE ¥ fag 2 Rad ow
greds aEas | 2
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13. Gautam Budha's mother belonged to ruling

family of Deodah state, which is now in the

......... district of Uttar Pradesh.
T T W 0 e U & IS uiaw |

oft ST 37 3T WS & faer & &1

(a) Deoria /3afi@r

(b) Gorakhpur/’ﬁ'(@'g(

(c) Basti /@&l

(d) Gonda /TeT
Ans : (c) TEFT TGH qF F F F A9 TREE 971 T8
293¢ U59 & FId 39 ¥ "ata 41 299g us9 Faue
grg # IW W8 & aa fad § fgq §1 Fefg s
gdf 3.9, 7 A9 F AW R REq g5 Fed TSI 911
14,

------------

The Ashram of Valmiki was in Brahmvarta,
which is located in:

TeHtfen w1 AW Feuad 0 o1 A
(a) Bithoor /fa2X

(b) Jhansi /34!

(¢) Lalitpur /AfAH

(d) Urai /3G

Ans : (a) e arcfifF oM 98 e 8, @ W R
FAfF 7 I TREE TAE F = F A vl
ATl F FGH A@Ed § 41, o fF Fawm q fagr |
fega 21 fagz vs wfag g wiffs war 2, < f 3w
T2 & FAR § e 7

15. Uttar Pradesh brought out first Hindi

newspaper named ... , edited by govind
Raghunath on 1" January, 1845,

TEelt AFadt, 1845 @l 39T WeIT ...

wgen Tt wavamas fraaren o wifdg vy

J wurfed faram «m

(a) Saraswati /SUFAl

(b) Banaras Akhbar /9H 37@4RX

(c) Hans /89

(d) Jagran /STTOT
Ans : (b) | Fa8 1845 H IW V&I TF ¥ TIRH
IyEaR THE el fel gEER 93 fwen fagw mfae
gAY | Guifed fFA 411 R@ER & €@9ed (Director)
en ferawars faar fes 4 &=l &1 o TR 9 35
grdve o fygs gHeE 30 5% 1826 § Fawa § g
foven T 41| THG RS RN YEFA 41 36
Iuaed 1 30 W FI = e fGEg gam s 8
16.

Sharqi ruler of Jaunpur, Sultan Hussain
Sharqi, was a great musician and developed
Bada Khyal, which was developed on the

(a) Thumri /g8 (b) Ghazal/TsTdt
(¢) Quawali/F&ATN  (d) Dadra/3=0

Ans : (a) 9 9rdg g & vE T el @ R
e wfa & 398 @, 1 9 99 F wuEa 2 g
SR F T TEE, G g9 I U "e Hifiaen
91 3FH I H 7 W 72 @ fAwa B an

17. Bhed Kund, where Arjun took aim at the fish
to win Draupadi swayamvar, is situated in:

7T F, T ST ¥ A § e A 3 o
Bt W 9T ST o9v, 39 Wev &
T £l

(a) Etawah /22191

(b) Firozabad /fFi=mam=

(c) Farrukhabad /%%@@ER

(d) Barabanki /&

Ans : (¢) 9% FT (Bhed kund), 5@ [ A TE=E W
ZUe F T A9 § W w % forw weelt &t s &6
fomar F9r 91, 3W 2w T F waEe O 7 fug
2

Name the British Governor General who
introduced railways in India?

3w fafewr madt e & AW @A R

UWE | {o7d W1 Y[R fawar ar?

(a) Lord Auckland /&2 3ffFeie

(b) Sir Charles Metcalfe /9% e HeFEF

(¢c) Lord Hastings /@ie gfgmg

(d) Lord Dalhousic /& Sef@rsit
Ans : (d) @2 STRTST 9RA H 1848 § 1856 aF NI
T @ T F gg § 9ua § 949 an 1639, 1853
8 ad g gm & d (34fFd) omdt =it f o
RIS I ARA # {69 F I9F WA S 8

19.  Which state has the lowest per capita income in
India as per to report by Ministry of Statistics
in 2017?
wiftzrant warera @t fure 2017 & 29N, 9Rd

T for =9 § Wad &0 Wi 3+ 20T &7

(a) Uttar Pradesh /3 Eay

(b) West Bengal /Sf&W dma

(c) Bihar /fa@R

(d) Odisha /37fewm
Ans : (¢) FE@ TiEH Ty FOEE 2017 F
sar, ‘faRn’ & uf =fs g s vsE #i o gaa 4
a9 9 2|

18.

pattern of:
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20. With which musical instrument is the noted

musician Arvind Parikh Associated?

A & WY T2 F E?
(a) Tabla /@@ (b) Sitar /fHAR
(c) Flute /argd (d) Shehnai /¥1&TE

Ans : (b) 3fE=< g F I 19 IFH, 19275
EgHeERE TS H g a1 Ffas gifE faar A
A 47 | 2 o imeR § s swr e
aF g ‘VEAE 9eF & 9 ° 94 A9 91 1. giuEE
% w9 7 qyE |

21.

What is the estimated quantity of food grain
output during the crop vear ending June 2018?

FF 2018 T WU B AT HHA qY o S

TS IeUTS T FAFATAA TIAT AT &7

(a) 254.83 Million tonnes /254.83 fafeaa 29

(b) 264.83 Million tonnes /264.83 fafrzq 24

(c) 274.83 Million tonnes /274.83 fafega 29

(d) 284.83 Million tonnes /284.83 fafaam 29
Ans : (d) @ UF FW HI@ F 9 2018 F gAlfA,
YA § A H IWEA 94 F 3d # (2017-18) F HHA
a4 # (284.83) faferma 29 & I=aam WX aF WA &
FAA 2 S AW AEA F AR T, 96, 92 AS
wH el 7 T A8eye 2
22.

What is the total number of stocks constituting
the basket on which the S and P BSE Sensex,
or the Sensitive Index is based?

S & P BSE 2o a1 dffea 2o g w

FTRA & TH TR T o =i
(a) Twenty /419 (b) Thirty /819
(c) Forty /aTaE (d) Fifty /9919

Ans : (b) U5, wg ¢ dugd 999 (vg wee 4 gt
TiF UFgds daaaviia gaie) | fued 30 999
At Fe1 9 21 9 30 fadftg w9 & oSt Fofat @
FI-FAE AH-928 WiF Ahe 129 21
23.  Article 20 of the Constitution of India deals
with:
ardta w@fae & aTeae 20
(a) Abolition of titles /2fa41 F1 I
(b) Protection in respect of conviction for
offences /aM-fafg & T=d § F0T
Continuance of the rights of citizenship
/AT & AEER F R
Promotion of co-operative societies /F&HNI
TRl & ST o

(c)

(d)

Ans : (b) 9Ta & Hfaum § 3=ee-20 amfafs & dad

¥ i § gEfud 21 39% A §9 TER F Eee

o T -

1. fet ff =afs =t wF s90g F fow Faa @ an |
fer |

2. FAfF 3R HATY F4 F T97 N F4 £ 3@ F T
& Ton faerd 1 5 3= FA & dwd o a1 A g
Eily

3. =t o W F favg AEwg # TEE 34 & A

F8 faar s
The state has to provide free and compulsory
education to all children of the age of ..... to 14
vears under Article 21A of the Constitution of

India. Fill in the blank with the most
approprlatc option.

WA & %99 21A & agd, T &l
W 14 T° i 3g * weft At w gu
3T arfrard forgm wer & 2
(a) 4 (b) 6
(c) 8 (d) 10
s : (b) YRG F HfEAWE ¥ s{=R-21 WM vd 2feE
W ¥ gEtT 21 AR SR 21(A) F T T 6
g 14 af Ft 3 F 9o awdi F W @0 § S
Tsg, fafy () g faeifa &, fryges @ sfed
o # I9E= AW 21(A) 1 863 WiEEE FINEA
2002 3 Fawifga fFar @ aw REm @ s
(RTE) W& 2009 H 271
25.

24,

Which of the following statements is incorrect?

for o & &9 | w9T e 7

(a) The Governor can prorogue the Legislative
Council of a state. /T=991#, T H @AUA
RS2 1 W F GHAT 2|

The Governor can prorogue the Legislative
Assembly of a state. /T599Td, U9 & fa9M

T 1 T L 95T 8

The Governor can dissolve the Legislative
Council of a state. /TS99@ =9 # faaH

ufieg F 9T FGFAT 2
The Govermor can dissolve the Legislative
Assembly, of a state. /TS99, T9 # fFuH
T F 4T FGFA 2

Ans : (¢) FT=2 169 F FER Uo7 9 9ftvg 759 &
3= UF @Al UEA ¢ SHS §EE §TW & § &9 40
(T FR H, 36) IR FYF § afvF fFumen F 34
e F HE 1/3 g 21 TSAE s F fAum ufiee
F 9 T F FEA €, 5 ver A faem @ & o

(b)

(c)

(d)

FHHA &
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Article 22 of the Constitution of India deals

with:

aretE wfaur @ srgese 22 fr § ® feaw

et 7

(a) Prohibition of discrimination on grounds of
religion, race, caste, sex or place of birth

vy, ganfa, sfa, fofm a1 997 =M F 3R |
YauE F1 fAy
Equality of opportunity in matters of pubhc
employment /Hd(4% TR & el |
HAFL ) AT
Protection against arrest and detention in
certain cases /@ WHa ¥ FRUR 3 g
& fgers g
(d) Right to property /5uftl 1 3fHFR
Ans : (¢) 9T HfEaym F F=2-22 F9 TwWal d
fgard ot e & flaars dwew & dafia 21 39
TR A = F wANE 20 § fRwr fF e @ A
W §9 v # @A 4 % 2
|. feua & few S %1 R aaEn g
2. 24 92 F 3 3Y A & gag H vv fEn smom)
3. A F A9 T F I U HAR o F HAEFH
Zm|
Who was the President of India at the time of
emergency in 1975 /1975 T TATAhTe & A0
WA & Ul A a4?
(a) R. Venkataraman /3, JFZTmA
(b) K. R. Narayanan /%, AR, ARTIH
(¢) Mohammad Hidayatullah /TTEE ﬁ'ﬂﬂw
(d) Fakhruddin Ali Ahmed /FEEE 37 3789
Ans : (d) RE § 2654, 1975 ¥ 21 WH, 1977 %
Wiaftsd Fifa N MEAL F UK W AGHE TG 91
YA & e[ TPAd FEeeE 376 31g9e 9 dehe
I g9 4imd Ra i # 9er W 9RaE
Tfage & 3% 352 & 3diF WA ¥ e @n
FA FT =T FT A A
28.  The Capital of Lebanon is:
AT W AT &
(a) Beirut JaET (b) Tripoh /Tt
(c) Sidon /HrEm (d) Tyre /2T
Ans : (a) @A afaEits &9 9 ofidt ofr § gae
R & qEf 2 W frgq uF BrET Iw 81 39F IW IR
gd # dfem qar afe § gowEa figm € Awd’ SEAe
F TOEME TH deAE TSE F@ # qE @) B s

26.

(b)

(c)

27.

e o oo efifaan & o 2

29. Which of the following is the currency of
Kazakhastan?
FHITEET W g fre § | T o 87

(b) Loti /@2
(d) Shekel /¥IFA

(a) Franc/ﬁ"ﬁ?
(c) Tenge /ﬁﬁ

Ans : (c) FIARGEE AT F AT TAE T 39 | I0H
¥ 97 39 Sifaga 99 & fEww an 1991 F @ifasa 99 F
fa9es F = 394 HU9 F @ad 9T ) @@ @ ogm

& ¥ FerEEE 1 T s 2 )

30.  Which of the following is the most populated
country in South America?

zferor smfier ¥ fy & ¥ B9 | 9 wEw

IrfereR SMETEr AT 29T &7
(a) Bolivia /AIeif=aT  (b) Brazil /AT
(c) Peru /& (d) Chile /Fef

Ans : (b) =l i fava &1 =9t 999 921 9eEY
21 ymey T a@nf smfe weEi F osmen T F
drdt & 49§ fE R 41 A R sERE
foraa Qe F e 485favE qum | 2
Anie sMEE § g &1 oial gad aer 49 2

31.  Which of the following nations of Asia is the
largest producer of oil (getrolcum)?

uvrar & fw 9 9 O/ @ W e ae

(AZTTeTarm) o1 FaH AT IATGH 29T 87

(a) Saudi Arabia/H34l 3@

(b) Yemen /394

(c) lran/g’ﬂ

(d) Iraq /305
Ans : (a) Of¥@ # T34 3E w4 dq (TSfaad) @@
HaH 21 INEF 29 21 FHUF (OPEC) Giferaq 3w
FA A 29 F G 2, fagw Aiftza %
fog Tt & 21 A9Uen dG 9SR0 § ¥4 T @ 2
AfF 939 3@ i e | 2

32.  Which among the following is the oldest oil
(petroleum) producing state of India?

= ¥ ¥ &9 W1 9Wa @ "Ed i dqe

(FEifeTa) IeaTaeh T &7

(a) Odisha /3fgem

(b) Jharkhand /&S

(c) Assam /3HH

(d) Madhya Pradesh /89%4 29
Ans : (¢) R F F9H GO GEIfTAN SRS U9 399
21 femard vt 3Oy U9 F A9 AT F w9 F FE A
21 femard (arm) # ufvmn § weelt av &9 du w1 @A
g3 wd g9 1901 £ ufvr #t veelt fwrah @ e
o man a1 femaig § af 99 99 1 3AeA FE 9
33. Who is the Chairperson of India's national

Human Rights Commission as of August 2018?

WM, 2018 & JIUW, WA *F WA

WIHATIRT TN & TAHTT 37T T &7

(a) Justice K.G. Balakrishnan /=ragfd .5ff.

AR
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(b) Justice Pinaki Chandra Ghose /=rafd =t
o7 oy

(¢) Justice H.L. Dattu /=i Ta.UH. Z

(d) Justice D. Murugesan /=39 €1, q&TE7
Ans : (c) 9EE T gEafYER @M UF @Ee
fafis Som &1 39 ST 12 3R 1993 @ g o
FAUE (3T 2018) § 9RAE THE AFEEER T &
T A UAUA. & &1 WHaiYsR 3TEn &
T AAEaE g sfufEg 1993 F dea @
2
34,

What is the total number of commandos in the
all-woman Special Weapons and Tactics
(SWAT) team inducted in India by the Delhi
Police in August 2018?

T 2018 ¥ WA W feoedt yferw gr Tied
wa wfgen |yt do=w 3w 2feR| (SWAT)

&t § waisr # e g fhadt 82
(a) 36 (b) 46
(c) 56 (d) 66

Ans : (a) el gferm ¥ sdwar B0 sfvas # o
qd F el - ganfeen favm fmn g onifa
(TH.3s ) & nfea & € 1 39 I F Fa sfeen
FAE! F FE= 36° £

3.

With which country has India signed an
agreement in May 2018 on land border
crossing?

aE 7 WE 2018 ¥, g AT WG AHHT W

fora w1 % T EEATer fau 2

(a) Bhutan /9214

(b) Bangladesh /aeTayl

(c) Myanmar /SIHR

(d) Nepal /T
Ans : (¢) 350, 2018 F YUFEA A Foyegea d
F4ra dfidea 3 T At wftn F Hdy § 9nd g
WAR % 9 TEE B AS[ & 9 7 11 78, 2018
F oz AT FRET GEE W WO F 99 gEnn fFu)
39 TS § S 29 F ARE F 99 qEaet 9 e
% 3R T FETSE gerd |
36. Who was given the Outstanding

Parliamentarian award for the vear 2016 by

the President of India in August 2018?

T4 2016 % fow, WRa & WEUfd gWT 37T,

2018 W IFE WEST YTEERT W fREar Tarar

T 7

(a) Ghulam Nabi Azad /7™ EE Il A

(b) Dinesh Trivedi /f&ter fadt

(¢) Dr. Nazma Heptullah /ZT. S5 ;b'w

(d) Hukumdev Narayan Yadav /@rr?:a GILE|

qedq

Ans : (b) fma avf % gd9w TiEE TR T FA A
=f frered E-

2013- TS U FYGee

2014- gFH 39 ATI0 AEF (415

2015- T T AR (FAF)

2016- &9 FAdt (qema #i0w)

2017- WIged vea™ (AF s ST 3

37. Who is the Chairman of the Securities and
Exchange Board of India (SEBI) as of August
2018?

FME, 2018 & FIAW, WwAra wlagfa 3w
fafraa =g (SEBI) &1 IaaTT 31292 &I &7
(a) Ajay Tyagi /3519 =T
(b) G. Mahalingam /3. "eifeT™
(¢) S.K.Mohanty /TH. F H&dl
(d) UK. Sinha /.%. fa=r

s : (a) TAAE ufEgfd @R A @i (SEBI) #

AT 12 39, 19883, F UF W AifEs FEE F w9

H gE 4 30 SHET 1992 § UF FARY N WWHER A

3o Fifatus fFm &1 3= o= & G e #§ 556

Wy ‘weg Al UE e uag 6 2

% | A—— are used by dentists to see an enlarged
image of the teeth.

Eﬁiﬁaﬂfﬂ(enlarged)wﬁaﬁ%@ﬁ%m

@a Tafereaent grn =1 IqATT feRar smar

e

(a) Concave mirrors /3¥adel 90T

(b) Convex mirrors /396 2907

(c¢) Bifocal mirrors JATEFRIHA 90T

(d) Plain mirrors /49l 2907
Ans : (a) Fidt # af¥fd (enlarged) B # g@1 F fou
afd & fafeeq®l g/ yaad adv1 &1 I99m fFr s 2
I HamE Al mEd #i 2T e § f Ead im
F1 54 & s 21
wafs 39a dur AT e A g # an & &) et
HEga § MEl F TEAR A4 W@ # omEE 2|
FA 2| TEF I ©e anel § 6 39a 24 &
54 foa S 8

HEATHh &T9dT/Numerical Ability

It took 75 days for 42 people to construct a
house. What fraction of the same work can be
completed by 28 people in 90 days?

fordt =7 & @9 & fau 42 =fwar grr 75

fo =1 wwa fea Smar 21 28 safvwat grr 90

fe=t & = it feaam wm o femar s wehm?
2 4

3 ®) 5

(a)
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certain speed. If he cycled 3km faster every
hour, he would have taken 4 hours fewer to
reach the destination. What was the speed in
km/hr at which Prabhat actually cycled?

&t gl

v ues fafie ofe & 240
AT AT &1 98 Wekeh we iR, atfires o nifer

(c) 2 () 7 Ans : (d) 32 e 571 & T/ F 9@ x By, 2
6 R - S wF uw # 1 y fEdyger &) A
Ans : (b) 3f2 39w | FE & 90 AT § FA @ 35 |
=ferdl it g X' & x=——=18 fai/=
42’;75=xx190 gra & fagdia faen 7 am@ & 9@ = (x-y) @b
48
2 " a—
i x=4”;075=35ﬁ=t 7, x-y="-
df% 35 =6 39 | F4 i 90 fam § @ g, o, x-y =12
28 = 90 B9 # 39 74 =, ar 18-y =12
2 : =0 ST = ﬁ
=28xgo=“—8=iﬁmwaﬁﬁn y= 6 Tt /5921 = 91 & 9ra
35x90 35 5 i 2 P 42. What is the value of
anfeass fafer: @ 28 =4t HM & x 90 H 9
S s i * A 72+[38-{30-(31-60+4x5)} | =
7 FT 2|
M,D, M,D, freterfaa @ = @ &2
S . T 72+[38-{30-(31-60+4x5)} ] =
42x75 28x90
: - : (a) -2 (b) -3
(c) 4 (d) -8
5 -
A= Ans : (a) feam Tar =9,
40.  Prabhat cycled a distance of 240 kilometre at a 72+(38-{30—(31-60+4x5)} |

=72+[38-{30-(31-15x5)} |
= 72+[38 = ‘.30-(-44)}]
=72+[38-{30+44} |

H |IglRet =t €1 At @ Taey deh uge ° 4 =72+[38-74]
He U WUG AT g1 WU F arerd § wgiehet =72 +[-36]
feraa fepddt /=2 ot nifer & =remg? =14
8 (1)7 :g; :‘5’ 43.  What is the value of
= s 113+11.3+1.1340.113+0.0113 =
240 240 }
— — +4 113+11.3+1.13+0.113+0.0113 =
al oy (c) 125.5553 (d) 125.5543
— 240x+4x>+12x = 240x+720 Ans : (d) @ 1 =9,
= 4}‘ +12x =720 x=113+11.3+1.13+0.113+0.0113
; X“+3xl; 1;;,0 » 0]2 a X = 1134+114+140.3+0.1340.11340.0113
X =]l X~
- X = 125+0.5543
o7A: WA A T 1 2knvhe ATEEE B9 F 2 il e
41. In still water, Rajni can row 135 km in 7.5 ‘ —
hours, while she can row 48km upstream in 4| 44 What is the difference between 1.4 and A ?
hours. What is the speed of the current in 16 48
km/hr? i ] 7 - A
Ror W & ot 7.5 9§ 135RRd Tma =@ Eaﬂwﬁi‘twwt?
THdl & Tafer 98 9T & faofia 4 =2 o 48 o .
fepdt ara wrem WeRdr ¥ O S BT SR e (a) T (b) 51
fereft /erer o oam 872 5 “7
(a) 4 (b) 4.5 (c) 7 (d) =
(c) 5 (d) 6 3
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Ans : (b) & ma1 =9,
7 7

X=—=——
16 48
__7(48—16)

16x48
Tx32
)
16x48
7
X =—
24

16, 24 30T 28 ¥ | Uedas BHT (awmreard
Tt TEH TS 4 3R HT HEAT FATE?

(a) 9914 (b) 9764

(c) 9744 (d) 9864

Ans : (¢c) T8 16, 24 9 28 F @.9.9. = 336
I 9R siF i g T = = 9999
9999 FI 336 T UM 24 T I IHHA

Ans : (¢) T 1 Hfawan 3% = 650
3R W FIA B SH F W@ =650 F 72 wfavE

3T FEHT = 6SOX72=468
50. %990 UT 5 @Gl U 16% AU o | e
WTHT AT 4T B 7
(a) %891 (b) T829
(c) T796 (d) %792
Ans : (d) a97 =%990 , 99 = 5 a9
T = 16 wfaym afd=s
A e = 20X 16X 5 99s
100

51, feelt g WX 23% & oW 3T 9% W BT &

o @1 i 7928 ¥ TEl W faemsi= awg @

— 955 Y Yol w4 7
3: 16, 24 TH 28 ¥ quia: fauifem & el g (a) %2640 (b) 2880
= 9999255 = 9744 (c) 2900 (d) 3220
46. 160, 720 37T 400 = AHT. AT &7 Ans : (¢) T W 23% F @19 3R 9% I &fa F 99 #
(a) 20 (b) 40 pa
(¢) 80 (d) 160 :g{ ¢z P
Ans : (¢) & T A 160, 720 TF 400 F A.E9., et R Gl
160 = 2x2x2x2x2x5 x(100+23) x(100-9) .
720 = 2x2x2x2x3x3x5 100 100
400 = 2x2x2x2x5x5 123x —91x
HHT. = 2x2x2x2x5= 80 (WA i) T
47. = & 7E "W § | S o g 32x
5 == =928
TE 2 100
(a) 20163 (b) 21316 a 32x = 928x100
(c) 10404 (d) 14641 x = 22900
Ans : (a)?i%' ; 52. feet fadt &1 offd gea L2100 o1 38 W
20163 = (143x143)* - 286
21316 = 146x146=(146)’ A & A q ITA G2 20% AT 15% &
10404 = 102x102=(102)° w3 ot faen= = fasht goa == ar?
14641 = 121x121=(121) (a) Z1460 (b) Z1428
: 20163 UK TF T HON A&l (c) 1365 (d) 1397
48. AT 264 T 31: 13 & ura 7 fauriaa feran Ans : (b) T2 5 7= Faet 7 A e
AT & A BIE WWT & W T4 &7 SRSAN. i
(a) 65 (b) 78 = 2100x( = ]x[ - ]
(¢) 91 (d) 104 100 100
Ans : (b) & TE @& =264 80 85 .
: . =2100x—x— = 1428 %.
39 31:13 & U@ ¥ faafem &6 wm, 100" 100
o b 26 ; =
S v iy o SOAKIS . 2BARIS s 53. W 9 250 W TH HAER AN feRar Jafn
31413 44 — froren 3 ww =g e i e @0 A
49. Tedt wawr ofteam o AT WA A o faw

72ufa9Ta 3TeRT ST SAvAET Bt & Aty it
& AfreRan 3 650 & @ rEar- Wiita it &

el o e 3 Far §7
(a) 432 (b) 450
(c) 468 (d) 486

e & 3 ° (A & Ay ®), 9 3w
froTem Ty W 25: 24 & U | @ier § 9

Torgrem A feara=m faayT famar ar?
(a) T2160 (b) T2480
(c) T2880 (d) 2920
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Ans : (¢) 5T frerer # O = x ¥

@ | 3 frwen A1 4fE #1 seE
=2250x12 : x (12-3)
= 27000 : 9x = 3000 : x

34, 3000 : x=25:24
- 3000:2
X 24
p)
- x=3000><..4
25

X = 120x24 = 2880
fadg 3T 30T g ure @R &7 3iEa 70 %,
IAT 3T yaTHE GT WA TR @ 3iftae 56 %,
wafes vamer AR faa=s g wrE @R @ v
afrma 78 ¥ faa=s 3w 3w vame g WA

THRIT T ATaq 3T &7
(a) 67 (b) 68
(c) 69 (d) 69.5

Ans : (b) 3z, fd= &1 @R x
TH IR F 'y R AW 2 E -

"‘:y =70 T xty =140 ........... (i)
Y’;'Z=56'q1y-f-/=|]2 ........... (1)
Z+x=78mz+x:]56 ........... (lll)

£ S A A S -
2(x+y+z) = 408
a1 Xty+z =204

204

#H: x, y 741 7 F Al F T = —3——=68

IS:x::S:yﬁ?ﬁ xiy=?
(a 2:1 (by 1:3
(c) 3:1 (d) 1:2
: (¢) & ma =F9E 150 Sty
203
y
S

E

ok
Xty=3:]

T1200 T T WA & W 10% aATUE: dhglg

=TS U7 oo | €1 A 2afa sars fepa=r grm?

(a) 264 (b) 246

(c) T240 (d) 252

Ans : (d) T =T1200, 3T = 10% a6
g = 2

Tdfe mgva =1200x(1+%)

=l200x]—2-l-=?l452
100

< | %
o—-lw

amgfa =TS

= 1452-1200 =252

60 =3+ Terdt dram & &= o 36 fex &ma &

T T TST 0w g B W, U W s
N BIgHT Tt AT £ 1T Tl GT FA § Fel

feremrent fapa=t fe &1 o= @mm?
(a) 46 (b) 45
(c) 40 (d) 48

Ans: (a) T8 60 &AfF | FH & FA & =36 |
I

wd afz x 5 | 60 = 39 9 F — 9 F ¢ al

60x36 _ 60x6xx
] |
x =6 faq

msowﬁsm%:ns feedl & 9 99 & @18

a

Y FAfF = 60-15 = 45

. % 5

o I =
maﬁwwﬁs%mm’%éﬁqﬁ,

aa456:rﬁ‘ﬁ%my&aﬁ$‘t’ﬁi-

60x6 45xy
T
6 6
60x6 = 9y
y =40
3 T o el H G = x+y = 6+40 = 46 &

ATATaeh &T9ar/Mental Ability

58. et ? & T W walftus Iuge fawen @
AT E?
EV:27::JQ:?
(a) 25 (b) 26
(c) 27 (d) 29
Ans : (¢) 57 5#R F-
lf VoE 29
!
5+22 = 27
34T JHR §-
J S
1 ¢
10+17 = 27
59. e ? & T OT WAUE IUYTH fawed B
|rg?
BCE : 4610 :: KMQ: ?
(a) 222634 (by 111417
(c) 111317 (d) 111217




2x2 I

3x2
5x2

1

2226 34

ling
2

13x2
17x2
I TaeT &1 999 & A (& @91 U2 o 3
It g ® wafue § 99 foR gAw ug uEet ug
o "afua €
SOfaaTTe : aiasy @ aaetayne : ?
(a) Gt (b) T
(c) @ (d) fz
Ans : (a) 59 @R ¥ =fqwwre § 9fgs &1 erEa
fopa sar 21 S 3 weR § Faefaers § gEd (Y-
gtelf) F1 3a9a fra ST 2
61. o 218 sf@en § 0 4w I ?
BEH, DGJ, FIL, HKN, ?
(a) LJP (b) IKP
(¢) JKP (d) JMP
Ans:(d)ﬁ#%ﬂj@@@@ﬁﬁmﬁnﬁ—

60.

64. T WA sjEen A FEn A
12,23, 34,45, ?
(a) 52 (b) 54

(c) 56 (d) 58

Ans : (¢) & TE T HEen e gof gnfi-
12 23 34 45

1140l +n11+lFfEI
oa: faweg (o)l 2

65. T TvEA sEen U SN Fan ra?
151, 7, 181, 10, 211, 4, 241, ?
(a) 4 (b) 6
() 7 (d 9

Ans : (¢) & ¥ 3R Jaen g wef-

151 7 181 10 211 4 24 ,
1+8+1=10  2+1+1=4  2+4+1=7

1+5+1=7
M fameq (¢)TEl 21
66. A= T sjEen ° el wEar @ wnft?
2225, 2289, 2361, ?
(a) 2400 (b) 2411
(c) 2421 (d) 2441

Ans : (d) F T IR HEen e anf-

2225 2289 2361

l ] H

+8
37: fameq (d)=ed 2
67. T g sjqaen § et wear @ wnfi?

315,317, 322, 329, 340, ?

(a) 352 (b) 353

(c) 357 (d) 363
Ans : (b) 7= d@m gmen i ®9 | fpmad e
S H TAH A WA W qF T # FHAEn
UF FIST WA AgH W A & W

315 317 322 329 340 L’Ef%'}j

*13

I ’ﬂ'ﬂ I

5 +7 +11
SRf W 2,5, 7, 11, 913 3959 §&¢ 2 3 98l
faweq (b) T 2

68. afeTUT-yd @t AT Y@ fehU g0 U Al 45° WX
it wit g &t feyn ¥ gz wmen €, 5 aw 180"
T wEt Wl gE @ gy § qT e ¥

A T @ g foom 7 7

(a) T4 (b) I

+;:; +2 7
2 | +2
B E H I _i'l L | N m
| +2’}) 54 l +2 ‘T 4
+2 ...2
+2 +;
I: faweq (d) T9 81
62. ToeT 278 sfEen | AT S A
AU, EO, 11, OE, ?
(a) SA (b) 00
(¢) UA (d) VA
Ans : (c) & ¢ 3R Saen famaq arfi-
v © K6 [y 4 K 4
AU EO 11 0 E [uUA
L+4 H +4 Hase H 46
3a: A (o)F@ 2
63. T 278 e W AT FAT A2
CF, FL,IL, ?
(a) 1) (b) LO
(c) OP (d)y MO
Ans : (b) & T 3R HEen faeag anf-
+
BE 4
C:E =K 1 A 5 L O
+ N EEE
+3 +
3q: faFeq (b) Tl

(¢c) =& (d) ufam
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Ans : (b) 71. e 2w U wvw ¥ uw waw vnfver € e
z'_ IR q qE wwiE 1 AT 11w T $1 e
1 @ § aifiw feafa qg qT HIEAT T R FAE/AEE T awed
| g 247
7.« '80< 31 HYT: F A faEar #o9a § et
45 fepan S =fen ?
oty feafr g smifee fafd aeh:  1:3, 98 fd 5aen ® ErE HT S
: 4 Zg. >
z ' Il : 7@, 28 &9l qudr oftar somedt i
o W@ ¥ WE g % o # =fe &1 @ s faan T8 FT 3|
2 (a) #ae a | 9o &
69. 3TAA IO Wl I 5 feRHT. weraT & A AT a8 (b) FF 7F 11 AT 2
AR qT W 1 3 Tt wem & @ aw e (c) A @ I & 7% [l 7o/a @
3T gz W § i 5 et ser #1 o ' (d) 7 137 11 34 Foma &
o i fog | forw faom & €7 Ans : (a) TE ¥ e fFEw wonell & gemfea
(a) I YA (b) Iu-ufEm fhe ST =few AR wE S & qew/Eh @ e gE
(c) Ffeqor-gieam (d) =Fr-gE wifa % #yqey ¥ & 961 T F9 4 g § syt
Ans : (b) 3@ ¥ WE 2 % 300 a0 F A ¥ 59| ||F =Een F qwta @l e e wEe §
ST fig & Swe-ufeem e # 2 gl WA oftar Foneh W wE A gSm AW 4 W
L F9 7 (1) 7990 2|
72. ‘Wl @1 'UEEA W 9@ way g 9 A’ @
........... "
(a) = (b) g
(¢c) 82 (d) 3rd=Tasen
: Ans : (a) 59 "@R @d A9 F 390 TgE W
a&m m%mmemaﬁzmm%mm
70, S Tow G weR F U v § o | o0 Fe A a7 e

AT 2 T iR 1 34T 11w T §) ot
TE 9 FET I R FrEEy/AEE w6 awed
95 14

FIT: T GEFN F] o & [AaiF 9w 9fa=y amEn

73.

30 fawcy &1 == &t ot o & 12 9 9
It R ® wafta § 59 foR gEw ug uge ug
| Had §;

zar: feaadt  agw : ?

e ? (a) Thail | (b) FEFR
wh: 1 d, T e F ae @ A w9 oA (c) TAfREA F BW  (d) wefma
S | Ans : (b) f58 Y1 ¥ Za1 39S (Dispensary) § Tt
I : 7, 79 fofs & P s & Atf || € 1 S0 # W 2 AF W 5ER F dgF T
T & S| (Armoury) ¥ Wi a1 FuE #i S 2
(a) Fa 7% | HomA 2 74. W H OG T FE AT § AU F ... T E
(b) Fael 7% 11 75EA 2 (a) @@ (b) fasat
(c) T 7% 17 & 7% I 79 & (¢c) &= (d) FR

(d) @ 131 76 11 21 FomA &

Ans : (a) TR g fAgfa sam A @ & fAga w

Ans : (a) 59 THR 99 F W9 I9F 99 71 G99 21 IF
3 YER ¥ T8 W o H 6y @ F 8

v &= ¥ W ¥ e F wven ¥ afg Enf foaw
Mt F AT AR # AT IuEs 81§ /@ A Sl
FH1 3| g sEves @ & 39 fvig 9 faE s
¥ AiFfE wura @ 9 Fits fal sam § Faa 9w
& 78 9 9% yFIR A Fe e @ # o F9a
& (1) 799d 2|

75.

I Ta&ed &1 997 T A1 1 dE? ug J 3k
It wR ¥ "afua § 99 o6 gE0 ug ugel ug

NGRR3R
(a) =Larsl (b) =t
(c) =M (d) @
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Ans : (b) 55 v#r & ¢ & @79 92 %1 59 fen s
2% I YFR ¥ A F W & H S A

Ans : (a) fFdt smfa & sa sfafda § sl &1 @
AT 9T A9 F AR uF A aren 9 IO FH IR TG

AT 21 A &1 wafE aFEa oA F @ 9w sfafda @
76. 'EFG' '789' W 361 YW § wafud ¢ (|2 T W A gl @ 9@ sffaam fwen (A) #
'OPQ s | Hatua & T MVU| 5 7z &)
(a) 171819 (b) 131415 80. e (X) | fe@TT MU AN (= vt |/ &
(e} IOIG1Y. (d) o678 AT FATAT AT TwHaT &1 Faw AW L o #
Ans : (a) ford bl waat fawfia (opposite) fEom  ®r W7 waw
f F G —»17 8 9 EA
5+2
6+2 I K
7+2 L
3 I wEn |- MI|N
15 16 l_7 0O
O P Q——>17 18 19
I 15+2 (X) [P
1642 (a) O (by P
17+2 (c) N (d) K
77. T 3TreRfa @t IUUT BT F UEATH HI Ans : (a)
K
oL | | Jo|Je | ]| o il O T N
FF T
- B c D M| N
(a) A (b) B
(© C @ D i il
Ans : (b) 5t & € amgfa & ‘ador ofafena & sl P
1 g AR Aren am Al HR oA it SR aren A ||| v & o F YT F s At F s
]_@ 'L forar @ 399 faofa fen § swm 0 Em
A WR T o @1 3 g@ 99 (B) Cillk

S = wE 0 BfF 7
78. W@ TeralgN T@T WY UWEyi viE (AE R A
ot gam) @ e fea e & A G g
fearg 3m?

+ 4 ¥ = O+ + O/ l+; l‘fi '
3"‘{_\ l_ﬁ +> _” u o
s L)) : i

A B C D
(a) A (b) B
(c) C (d D

Ans : (a) @ T TvF PG # fEdER W@ W Rt v
FAE IO R FaE 3N &+ R O F
=T BN A 2 AR F o+ fom vl O F 3 & ud

81.

7 AT To & WY Tk Lew AT & (e
wieremert = W %1 srarg uw fafye wua &
iy difigs wgfa & wnam & fafvfa faan
AT €1 39 wua o ° vt wgte git st
£ it swant i &t sft g fafyw waw @
AfTe AT T A Tl AT o AT 1 3
T 3 G Sl WA Selt Waw aved! wiatsmar
4 B ante?

(a) 3H WEWE % fou I= wiumiE ¥ fwEe

S H

(b) =9 F foIU sAa & A9 43 AT HET
(¢c) 3 S8 | I AT

(d) HIT 99 999 o9 & fau 939 g 4

Y FHT

% ATaR faard 2m)
e et =it ot o Bfer @ arit?

79.

WAN MVU | NYM | MAW | WAN

A
(a) A
(€)'C

Ans : (a) T81 W T2H @ § G2 H TH [T g9
% fim difas w=fa g fBffs fen s @ ud el
A @ ¥ B ol o ool a @ ot
Imat fim =t g g 39 ffge o9 9 ofvs g a%
Ao 1 A & I &) o 3 B 39 999 & forg
I 3= WeERE 8 R & ot fF e @
s g 741 faa o @ 2
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82. U WWTT Ui 7, 13, 19.... o 192 wwEn
T E?
(a) 125 (b) 120
(c) 115 (d) 110

Ans: (¢) & 7 goft 7,13, 19, ...
gt 4oft F1 999 92 a= 7
ad 3R =13-7=6
goft #1981 92 T,, =7+(19-1)x6
Tio=T7+108 =115
frefefiaa sj@en § 3rTelt T @i o 87
4,9,17,35,69,?
(a) 139 (b) 138
(c) 140 (d) 142
(a) & T S@en quf w9 & freae anft-

Ox2-1 35x2-~1

I I

4 Y 17 35 (v@

17Tx2+1 69x2+1

4x2+1
Freafafas siaer v soreft ge = o 82
4,12, 16, 80, 86, 602, ?
(a) 603 (b) 610
(c) 608 (d) 620

Ans : (b) & ¢ men gof ®q F freaq 2l

83.

Ans:

84.

87. TSI H TS U W, fawd w0 B A T@d

T UT & 3 faeRw e B @ ueE W ww

w1 fawa ofr fasrm & <fter e o €

U+ W fera o1geh &7

(a) 28 (b) 36

(c) 43 (d) 22

Ans : (a) TS Ft ufs § 90 IR 4 Gy 9% TIFH H

FA FEA = 10

a4 BR § fawn 7% $d A H @ =7

foog wd famw & 9 Fa g F g = 11

dfeed § FoT TEH B HEAT = 10+7+ 11 = 28

88. ATe TR o @Al T2, YFHAT A a1 a7 ugel
AT & A, 9 @ sowrmar few, e G
gr?
(a) TMER (b) HTEAR
(¢) HHAR (d) IR

Ans : (b) 711 & 3734 fa7 = yppaw -2 &

aﬁ:?ﬁﬁﬂ(::qﬁﬁiﬁlaqaiﬁﬁ

TEH A 2141 5T = YA + 11 &=

I 10+7= 17 § &7 = AR

741 17+4= 2141 27 WeEw g

4, 12, 16, 80, 86, 602, IQ#.QI
| x3 x7 1' +8

PLa 4 s N6 B
(@x3) (12+4) (16x5) (80+6) (86x7) (G02+8)

85. U e W TISIRAT Uk Uith W @Sl &l Tk
wTSat, A1 B ¥ WAV Wiewel §1 wenw o
et wrsferat 87
(a) 27 (b) 30
(c) 31 (d 23

Ans : (¢) 9% # @ TuE @=fFEa § ¥ ofw & 44

At @EH 2 BRI ° I W FHY: dicedl 8 e

gfth d wefRdl #1 d@E@m -

(16+16)-1 = 32-1=31 2|

86. Tw=ei witem W0l 1 &, 340 & GATeT, ye &
g @ i e ¥ dreed, 9w o
W TEEH A Wiaatirar § wnr 7@ forar 3w &
THEH TAF 8| el | Teha o5 947?

(a) 20 (b) 25
(c) 30 (d) 28

Ans : (d) T8 @ 37 @S | 9 2 52 vde i

# ¢ vd 7 T i ¥ ged 7 A9 § gerd 9 W
= (7+16)-1=22

st & srqeftad agi #f dem = 4

A T ASH H HE&A = 2

89. Tfe Ugell WZ ol WGTAN ¢ of Ugell 97 ohl
............ i
(a) TEAR (b) ¥HAR
(¢) WfFam (d) HHER

Ans: (b) T& 2 75 § | 59 7% FA faA F §@A = 31
.-.ﬁ:‘mﬁq:%ﬂ(ﬁﬁ)

#: 197 3 §eEn + A4 a7 = YR #m

ferdt =12 wmeT ¥ CRIMINAL &t RCINJLAN
* wu o formar sar & oar st oamar o
TERMITES T &% shifea faar smom?

(a) ETJPSNOK (b) TPJKMNB
(c) ETSNISET (d) SNJPOKLA

90.

FG § F ASH I FEA = 22+4+2= 28

Ans : (¢) 59 =R F-
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fardt =z wraT ¥ GRAMMAR @1 HSBNNBS
* ®Y O fer@r Ser £ oar et wre wer o
GRATING &t &% sifea faar s ?

(a) NIGRATG (b) HSBUJOH
(¢) ARGTGNI (d) ANCPOKL

91.

Ans : (b) 59 7R 7, 3F W wFR ¥
G—9H G——H
R——S R—4S
A——B A——B
M—5N T—3U
M—9N 1—— )
A—5B N—40
R—5$ G —"H
il

92. afe ferdt @rg wraT § COURSE, AMSPQC a9
AT & At 3dt g W ¥ SPEAK =T w9

ST ?

(a) QNCYI (b) QNCLJ

(¢) NCPLO (d) YKMGP

Ans: (a) SO yFR |,  IF W 9FR F B

('——:—)A
0——M S—5|Q
U——S§ P—=|N
R——P E——|C
§—=50 A—]Y
B—=€C K1)

93. Tou U YTeg W 37eT & UH [ehad WS & ford
I St Iaq4 # e § faaa f e
FUTHTAT | 39k arer 27
PARCEL )

(a) dF (b) =
(c) 91 (d) TH

Ans : (b) ¥ (PARCEL) ¥,
PAR. T8 ARC & 3&dF9 1 W,

PAR - PQR
ARC — ABC
4T Fel A e ITAH 2
94, =@ SWITCH Y& & 3780 &1 JUHTeT & &% o
AT W0 wE feRe el & T raftatda wa?
(a) = (b) =R
(c) T (d) &
Ans : (¢) B T v SWITCH

2345 6

sril 3 aviaer ¥ #9 #§ @ |, CHISTW
WA FAA I UF kN W 2 T = HuRafd
Al 2|

95. Uk WiEEW W I Wk WA T Uk A A
wEl, 'ag WY fUar & UswtH &2 & ST @
garay] 1" ey w1 g | e g 82

(a) WY wTed

(b) /AT g3

(c) &@d

(d) Hay fuifta =& & o1 g 2

Ans : (d)

g
df% 793 § g # R § #% gEa 96 4 R
2 o1 ey fAifa 38 fFa o 5% €

96. Uk TISa!, Udh o15eh ol HUAT |T o W13 o O
& WY W U AT §) TSR T oISl F AT
e 72

(a) fimm (b)  wTSI/ SIS

(¢) FEAF/FE/AE  (d) gH/AHE E

Ans : (d) B
O——0O+

I

SEL )] O

/ST WY

T W, deH F o 9 (@R F O #
T3 TS F IgH/AgF A% (Cousin Brother) & |

97. 3IW fahed @l AT A AR U8 & & HEy
TS HIaT & A AN U Tger UG | WIE Har

2l

Q’ﬁ:mur&::qgr:-—
(a) FiF (b) F
(c) T9md (d) &gy

Ans : (¢) 59 ¥9R ¥ =9 % @Agd 39 F 90f 81
3% T v ¥ g@ ff wawrd i @ oah & s
fameq (c) @8 21

98. 3N qehca H YHU A AW UG T Tl HaT W
AT & W GEI UE TR Ug W WIS AT §
th&:mm::ﬁuﬁa‘hﬁ:—-

(a) % (b) YT

(c) g4 (d)

Ans : (b) f59 ¥oRr weEErst & amg oifs & eEaa
fFar ST 71 % IE YR ® GWEist § g adr
I9F TR UF gAE AT F g fF Sm 2
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o= a9 3mE 39 = & a0 A=
fe@mar & = = F: i 2

fere =Tl dhaer Mg 3T 9= @1 =AW wd
2
(a) (b) 138
(¢) 136 (d) 73
Ans : (a) BT U 5 3@ § @ 2 5 - Fad g SN
99 F AR F AT AR F dEW 2 2
100. =1 99 2@ 39 =nular & 91 ° AT
fer@ran & & =maR HE

-

wHae g T ww & st W wWeE @,
wHadt aad 3 g & Samaial & Wy w4

99.

2

—

g €7
(a) 1:10 (b) 10:1
(c) 14 (d)y 4:1

Ans : (a) T2 Fad, TE R T4 & =RG F g =
2
Ud Fad 919 UF Mg & AEl F §89 = 20

2 1

20
1:10

ey 99 @ 39 snoTiET & A 1 A
fe@rar & =t = & 2

R

FHae aae AN T & SATrEl S 9 @71,

101.

Ans : (¢)

72l Faa 99a U4 1 F A i 9E = 20

U§ F9A 94 & ARG F 4= = 65

39 YFR FAA TEa-TE F ARG # 9en 1 Fad
T4 % SARE F FE F G FIA

20 4

65 13

=4:13

102. =1 =2 @1 Lagde rTE S A WAl &
ITT 2

AT w|E a6 2016-17 ¥ U "ABC” @t e
@t Ay, Ay, Az, A 79T As @ HATs urgar
@t farsht & o § SRt gvitar 2

Sales (crores)

Ey-2016 [_]-2017
ad 2016 & fog wft ymened =t Fer fawnr
(&g ) ¥ ad 2017 § farat o = ofaw 27
(a) 10 (b) 20
(c) 15 (d) 7.5

Ans : (a) 39 2017 & 30 5 wmarEd § fan 0 Fm-
Ar+A+AHAFAs = 0410+15430+25 = 80 TS
a8 2016 ¥ 9 5 wr@rEd # A 1 3m-
AjHAFAFAFA = 5H15425+15410 = 70 FUE
g 93 § a8 = 80-70 = 10 FT
103. =7 =E &1 LAgaeS AT wL AT U9AT 6
3IAT 2N
AW =2 T9 2016-17 | AT "ABC” W U=
IS A, Ay Az, A, TIT A | FHels Treal
W Taehl & a1 ° AR g9Iear £l

Sales (crores)

,A‘

Ky-2016 [_]-2017
ad 2016 & U A, A, ym@ETe *t FHer fawnr

FHac o4 & SATYIRAT oh WY AT AT &7
(a) 4:23 (b) 23:4
(c) 4:13 (d) 13:4

(FZ W) T ad 2017 | ferspt o == 3fa7 27
(a) 5 (b) 10
(c) 15 (d) 20
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Ans : (b) T 2017 & A, T A, vras & 3o Ot @
Am-
Axt Ay =10+30 = 40 F1Z
a9 2016 § A, T A, @ § e fas! F; M-
At Ag=15+15 =30 Fg
g feft § 3T = 40-30 = 10 FUS
104. 3T HATHT &1 =147 e AT 99 H T 8

A B C D
(a) A (by B
(¢c) C (d D

Ans : (d) 370w & 7 sl § 9 sl D 3=
aft § stem 21 FiH w7 T SHEE F 10 T @Y
2, Aty wFh D # 12 F fag &

105. 3H AT 1 =a= i AT I8 § 3T 8

® Z|qr O|dp A|0
dp AlAB|DOA @
A D

B C
(a) A (b) B
() C (d) D
Ans : (a) & T TFE H T WFE (A) FEE HA €,
it A (A) F wft fEl # sEitea o 2)
wafs @ @it A § Faa @ fa & st €

I < B T8 e T E
106, 3T JTHI T =T T A 919 H 3761 &
Y o
==
A B C D
(a) A (b) B
(c) C (d D

Ans : (¢) & TE HAA § FFA (C) I WAl HaEl
g fim &1 #=ifE sl (C) F o o 3 fog amow #

T2 g &, AR o= gl § =1 3 fom uE g @

92 gu €

107. 39 &g & 999 i AT I o9 faehedi o
AT T
(a) =HIEE (b)
(c) @@ (d) T

Ans : (a) fau U 9@ 6t § | gff, F9@ wd g
32 31 9 dig ¥ faeg aamee fafaa e & 9
I 21 m: avmeE o= O § fam 2

108. 30 V&g & o9 & A 99 AT faemedt o

T T
(a) faesti (b) A
(¢) TTH= (d) @Sl

Ans : (c) Fai W faeelt, Fa1 3R AmSt waad aft &
T F99 U9 W fEm Fa #) 6E v waad
yoft 7€ 2 wd & wgE (OF Al a9 3 29 a9e) &
sata arffga fFe o9 &1 7 99 9 =a 34 (39FW)
M W G 2

109. 39 & &1 ATH &I 9T T AT 99 o1 faawmear

| 37T B
(a) AT 22 qF (b) F7 FF
(c) USE ATA FF (d) HEE 3%

Ans : (d) BT T T § ¥ duE YA 9%, TG 22
d% w4 F0 4% 7 oft gdafs &7 F a9 g &
I &) FafE weta d% e d9 F faia s 2

110. 39 3T a1 =T T AT 99 F 36T &

g d F |3

A B C D
(a) A (b) B
(¢c) C (d) D

Ans : (¢) @ T A d H FF (¢) I AFfA 3=
it argfedl | fm &) #46ifE 57 A, B @91 D sfafas
fog & s fo7 ¢ arafas f3 21

111. I® STl T =G T 1 99 T 37T &

D P DD

A B C D
(a) A (by B
(c) C (d) D

Ans : (d) & 7 wFfaai & ol D F A 9m fadw
s ¥ e @ A e ol ol & 3 am
dieft Taeii @ srEitEd €|

112. 3 ATHT &1 =G HI A 99 T 3T 8l

A B C D
(a) A (b) B
(c) C (d D

Ans : (d) & E amfaE # ¥ sl A, BUd C & fam
Faw: amad o § 9w @ € e angfa D @ fm
i 21
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113. T3 smrepfa o &t &t wee farar £7

(A O

Oo|a

& O
(a) 22 (b) 20
(c) 18 (d) 24

Ans : (a) T § & T3 FFM F FA
(144+9+4+2+2=22) 71 &1 3; fFeq (a) TE 21

AT =<t /HINDI

114, @fgear & 0 ot o= e 87

(a) e =i fagw

(b) T @ =1 %

(c) T va &1 @15

(d) =fee 7 faaa arft s
Ans : (d) Ot § @ 71 24 2 g § faem Sl
A=Y 39 W F miEs 3 2 e = wm
F forell F1=7 # vgd @1 g9 | 5w A= 1 wfe @
21 38 W Fad 3| I faweq o 21
115. SreT B¢ | Tehel= =0T 214 87

(a) & (b) @%

(¢) A= (d) IR
Ans : (d) 3@ 3= H =R =207 @14 & | 98 HGHH "
B2 2| 39 B2 F 399 R gAg Wi § 13-13 9En
AR i ik wad =i F 11-11 9w @ #
8- T 9 W W, 79w agE gai

TS WH fava 5, | A FA A
116. WTaT ¥ 972 3 37 @t I A Aigd I Hd

z-

(a) ™ (b) FEAFH

(c) T (d) 27
Ans : (b) 91 # vz ik wd F 2 & G 37 FA
IW TR Fed ¢ | FAPR & T 9 9E 6
|. V=IEHR, 2. 4EsR, 3. SHAEHR
117. A, T, @, o (68 TahTt o A= 87

(a) 5 (b) FET

(c) w9l (d) 7FTTEE
Ans: (b) T § e auil F FEN 33 219, T, A, 9
I e 2| wath I =W ¥, 8,9, § o =
=9 F F W T & &) S T "ew (25) a2
3N WETER § 3 a9 3 F e B s E

118. T=teriiga ¥ | SI=-97 ITae TAferT &2
(a) FA0 (b)
(c) Frd (d) TR

Ans : (a) 91 & 59 &7 F =f% o1 a5 & W A 5@
wifa &1 &g g 2 39 fom @ed &) Bl 8 2 fdm @
21 gfee & wifem, 9 fig #9 sit ®@ER g g
Al ‘FO W wHfe 21
119, oo feRTaRT SE Haar &7

(a) ST 77 &G F TFH AT HAF A H

(b) umft 1 35 F U T

(c) Sl 71 &% &F IS & &

(d) it @1 &% & i =
Ans : (a) 397 5 aofi o1 aq F wF A1 39F T W
v w0 2 R § @ awm @6 @ wEAeR § agaen)
Z1 I Ao HETE g1
120. ‘3T 22 =T Tl AT H BH-91 HE 87

(a) FH FH (b) TE™ FH

(c) 3ferRauT IR (d) FAl FHH
Ans : (d) 389 2@ 9191 Feit a9 F Fa FF 2|
HH- T3 A1 G F 59 &9 § a9 F 39 v $
T IR HaY AT @ IH FAF Fad ¢ G § IR
F @ e (8) 2
HEH faaf
Fat
4

3
F
q
1, & fou
T (AT A1)
F,H, 0%, T, 8, 1
¥, .
2!, 3f!, 3w, aR!
. Frafefiga @ foem area § waamm & ganT
T &
(a) 3T FTE 2l
(b) & Fo1 faeeh o1 @ &
(c) ®R 1 FH FL &
(d) w1 e fr 78 §
Ans : (b) 5T V152 9 F H W 9gF 24 &1 3F FEAW
Fed &1 H, q, AW, @@, W, |, FE, II, IA, T
TE- § Fa faedht o1 w £ A F F s wdAm E)

&t § WM F B:(6) WS B-

1. J&vaES 2. vaEs

3. Fvagams 4. FAvFTaEF

5. FEEEE 6. T¥TATEE

122. Teavreur form vreg =t fergreaT samar &7
(a) I A (b) FF &I
(c) foram =t (d) =9 &t
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Ans : (a) 591, 9999 F fAvma F99F 99 U= #H
favmm Fed ¥ i fras fasmar aard s 39 fagrsy
Fed &1 G- e 9rg, 59 999 § 9rer i e aard
1 @ 2 oaE Fen 21 sats R & fAvea a9
T Ve F A fAvmm Fwa § e favmm & 6
fa9mar @a are v &1 ¥ fAvmm Fad 2

123. & o 3T UT 2R o e o2 2 £7
(a) @ (b) =R
(c) 3% (d &

Ans : (d) F9 & R W G5 F a1 9% 84 €1 el
HHH, GEU AHHT/ GBS HA 39 Fed €, fomar H
& a1 fas WY 4 3 TEET 8@ S HFES 39 FEd
? o fopmsfl %1 wwrE &al WA | SE- YW AW @
21 39 A § v *Al @ HifE @9 F FH 9
? 3 T8 wads T enft wafs @9 99 &1 sEEE
B ¥IT @ 2|

124. '=ATRTOT’ © HIET T FAT AL &7
(a) 349 (b) H93
(c) drET (d) 99

Ans : (b) FFM § Fa F 34 ¢ 999 7= F A9

F1A 8 &1 gaFe, Fa9E Fd g qEG Fe |
W%%?(W{ﬂ,m%, quiv, 3qUiyH,
w9, TS )

AN FA B Gd S §- (WH FEAE, qOT adE,
wfesrFa & 49 92 2 (T 9fs, s ofas, 3
2q 92 9fae) |

125. 9 ATt @il avet g1 — I@ifeha o HiF-91 e
&2
(a) THEE FH (b) HUEA T
(c) FT FFH (d) Fal FINF
Ans : (a) T2 @A F 96 2- W@ifFd § TR FF 2
e FF 3§ TG F Fed ¢ (uh U 3
s o fomdt 39 faar 9@ I8 TOEE FRE Fad 8
oF faufes 1, % foe 21 B § 31 #ns & 2

126. Tr=fafaa § & S-17 91eg g &2
(a) wEEn (b) fefamn
(c) TmeAT (d) Tara®

Ans : (d) 7@ T faweni § qfelm v dEew €)1 i
yaer, fefam @ik andt 7 441 difen v= 21 59 o=
| =t & 7 F W A 9@ A F A N 2 I feAm
Fed 81 &= § &1 fodm g § gfedm e S

127. fa=fafEa § | S=9-97 9158 7009 96 ol 67

(a) W% (b) et

(c) =% (d) TE
Ans : (d) 5@ 6 91 F 99 Wz A AEH T Fed @
3R 39F FFT ®Y F 7q99 I Fed &
SE- A LECES

3 A

gof st

T a1

e E

128. forw fasea ¥ woft yrez aewa s &7
(a) 27, SY, = (b) W, T, af
(c) @, Td, 99 (d) 3, ga, 19

Ans : (a) 2U TU faFedi F FEvE vER e, W9, W2
foem aeqm atffa, e 3 78 21 91 faweg g 2

129. feu v fasredi & ¥ ®-w1 faswen ‘g’ &
wata E &7
(a) 9™ (b) ¥
(c) TRE (d) ==

Ans : (d) ‘AT T T AT T 7| e @ G
vafa & 3rga & % vafs- drm, g, sfedes gy &
wafH g, T 3R " 39 F 94 £

130. ‘wruer' = @ faem yee gr—
(a) froe (b) T
(c) Sfi9e (d) WE
Ans : (a) TUE Y= 1 fFEm Oy g 21 e @
3 Ieey/fAolE & 2 39 3T 39 WA 2-
vTeg feretre
AT ELt |
EL| gfa
e qh
FHE frg
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Ans : (b) &=l & 75 v= wF & o a9 a9 71 =R
IAFEF A FAFA Ve Fed E1 - IF T=m W
IFHE- M, dE FAE g g IW Fees
9T 2
132, 3TO7TET EIST H B ATt T Caraivr’ & fo

e vreg ferfiaa-

(a) s (b) far

(¢c) e (d) TIHEY
Ans : (d) 0 frga 9@ #1989 § FEA a &
fu % o2 Feamr g1 HY- I A9 @ arl
T F AU gvEEm @ §afE 399d o9 § @2 g &
ot sETenty 2

133. ‘fer-=f’' & 14 & wét fawew =1 ===
Fiforu-
(a) IR (b) - T
(c) UZ-74 (d) A1 - 79

Ans: (d) &t § 3= w2 U @6 §) foAE I=Ro 9
71 3V F STl WA WO A 21 9 e § foa g
21 98- fo-die @1 o1 g [e-Fuer s 9y fawe
I 21

134, ‘WY’ U | A4 I £
(a) TAM (b) %4
(c) H991F (d) =3

Ans : (a) ‘T I9ET H 941 vEE HAM @) formen w@fy
fawda Tm+am St fF =9 =y & 33 @1 g 3get
94 3 U5, THE G0, O 30 2 99 fases
3ET 2
135, ‘Tften’ vz W fehm weaa &1 wanT 5o §7
(a) e (b) e
(c) = (d) e
Ans : (d) TfieT v § o wem @ wEm gan 2 g
T § g4 At ves ugltenn, @dfen, Tdfan, esten
anfz 21

137. V& a1 W1 a9 Hitau-
(a) 3T forwen s 2
(b) I& fommen s &
(c) 39E fwren wmm 2
(d) 3 femen s 2

Ans : (d) f&7 73 aEEt & g A g 3 fomen S
2| vEfs I fasey G 2

138. '®ww' s W WHIH ¥
(a) FHYRF TEH (b) ETET TEIH
(c) %% T99 (d) fa w=rE

Ans : (a) ‘TS99 V=2 § FHURg TO9 21 FHGRT IO
§ fasmu fagrss, @1 3URg I9NH &1 HaY & & o

TEFHE w1 fAuE @ wem 2 A

139. aT=a & fehaa 92 oA &2
(a) & (b) U=
(c) 9E (dy @=

Ans : (d) 378 F §7 92 & 2-
wgarea—39H Fal F GUET A 21 I IT TA9F
g9 |

FHHATe—-3H FH F gAEA A 21 39 TEE T
A 2
WIaaTed—3a0 919 F1 TUE @ 8| 341 399 da1 T4

ST

140. =% fE9wT ugar w@ar £ — @iteha ug | 3/eaa
= U FAATZUI
(a) GRUTHETE (b) fAum
(c) T=FaMH (d) J¥aES

Ans : (b) 8 TR Tem @ 21 9 | famw o 2
fum #1 31 S @ 21 T 3 fum #:2 99 #)
fram &1 & fom a7 981 @ gaa: 9 e

F fau g 21 9 faseq 3 2

‘gafea’ § wE-t Gty §7
(a) T (b) U
(c) 34 (d) @

141. (1) g | fau 7o foom forg = 7w g—
(a) SYFAEF (b) ew farm
(c) gof faem (d) faormaEye

Ans: (@) T - F M M F g, 5, 3, T 3N g
HAY A ZAREFU, I AT F A AT G F A
JM &1 96- gARd & 85y fFew - gd3ed, Teed
F T2 + 399, WY F WHEY &) 92 = 9 % 91
21 @ Y F U (5) 9= 2 4 oI, =R

Ans : (d) (1) 28 g =1 W femaws g 2 /= o
fyfafias fagt &1 @ 5 s 21 S 59 99K 32—

1. gof faams —(1)

2. 37 A - ()
3. A a8 - (9)
4. gYFEEE ~ (?)
5.3gw 5@ (“ )

Ty, gfg = §fy, 3o = 9y 3 a7 @ Hi)

A0



142, ‘&R Y @I e — Here w5 e g
(a) TG F AT FeN
(b) V-GN I THE FEAT
(c) Fgd Hua e
(d) q¥Fa FW FE
Ans : (¢) T F @ A - AL F 94 F- qEgq
4 Fa@ faswe 99 e s &) U ey S
T 334 &1 AT F F A & o F: A e
Z1 39 QR Fad £
‘= faT @t AigAT [T LT A~ CTeRlTh ol
aed g—

(a) dE fm s g@ (b)) =g AfEEE &
(¢) ¥R fa =iz fmn  (d) ¥@ & g@ @

Ans : (a) TR fa7 #1 = R @9h @ awife @
4 - 9% B W g@l 99 38 FU9 R s
favmy & 3ga e o €, @t 38 diSifs Fea 21 A
% ag qui 2 € vEfe gl # A qof 48 g 2
144. ST % TAATEHN 2

(a) 9= (b) e

(c) (d) weredt
Ans : (a) ‘FOEA F TAFR FIVH TR 2, S 1936
H yien g2 forgen e s sfee 29 fEr uE &
F afew Wit =Afwal - B, 991 UE 391 & e
H HHEH F1 TG A €1 39 WeEeA 4 15 9 2
YY WEAT 145 ¥ 149 &1 3T (€U T 9T & AW
o difee-
wigar & wdw 3T aw @ wfg 7 afu=w
WETT B #1 Wit & unTer (A aren) & @
e & e wifia 1 TErETET )
Tgl gea W, got & om ¥ wE wee ue
e TE, T I el wee §) |y ye o
Fo of 7 ¥, g & died 3| T A #i
APt g ff i &, ST oo ofi &
guaTdt =g W, g gfY § ¥ ¥ gud wndE
=TT AT Ht T Wehdl €, UT FAW YAS Hal
Tt uy & ufysws ® ¥ 39 U § AIfa wraen
ot & w&edlt, fvas & gEer wgear & o
et @ § 3 g wiftaenl & gEem R
& ¥ Tl T T S, WIEET @ AT whaer #
ardt &1 e o g o & dww ®, T E
wfa-wyerE, srem-faam o od @h g
wgraT-fera@man ar- e fage gEeme 7 € 3
arer # e e W ugen §, W " 3w
wfest wet fieft %, 39 waw S o 3 1w
T F

145. RiaaT o1 AUF q9T W HIF & Har &7
(a) T FaW & FH & THgEL 365 W H A
EGIEA
(b) St HfFr AT 21
(c) S HfFar GAa 2 31 2
(d) S THIH T 2

Ans : (a) f3@ ™ TiY F HgER Ffa@m F wEy aw
s T8 21 TFar 2, I FHfad % 99 F GHIH IqF

W™ ¥ g3 9 2

146. 27987 & 210 9167 § o@T &
(a) wfa aan o (b) ER-fAER
(c) Wfts a1 &aT (d) I F91 &9

Ans : (¢) 5@ T TW F FER 3= TE 94 v |
Witk SR 431 3@ 8, A % s 39 9 i w9

147. Yo =1 Higd fehaH &7
(a) AT A F W H (b) F@T T F 30 G
(c) ™4 g # (d) T+ A i gfE i

Ans : (b) TV & AR FfA 7 9 F 9=d T T
1 3fr 7 21

148, 'S WO 3T WAST g3 WAl €, 39 qaw 94

W I TE @ E - e ¥ RE-E e
WahE BT 2
(a) TE & S o (b) TE F T HFAG

(¢) & & 9 s a@  (d) TF & 99 g&

Ans : (¢) S FHF N ufaer g3 et & 39 w= 99
W I TE W E FAT HE F N I F 9 I
fameq Em 2|

149. ‘U9’ yre= a7 Srerd WHTATAT ITee £
(a) T (b) 4=
(c) It (d) ufgs

Ans : (a) ‘99 W= F g w2 art’ 21 anl F 3y
F gl @ 3R 9w 1 gwedf @, 9, SRR
afz 21

150. THeateiaa § | Hfaeprer & i o—
(a) qodEE (b) FEEH
(¢) 3% (d) q&E=

Ans : (¢) 98 fiffma & F3 € Hﬁﬁﬁﬂﬂ?ﬂm
FANEE IR FEW A9 F9 F F9 g) fFEe F
fadl # Ffa 35 (1643-17233) & 99 3 § fomn
w21 g Af F 2R agd o ¥ 3= R o
Teq Ui, = TOWE, WA e onE 21 9%
el W ¥ g # g9E WA # s U
SEA T He g1 Teifed g WY H S
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